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void add(int key, int data) [ int search(int key) {
struct cell #*p; struct cel l* p;
int bucket: int bucket;
/x FxA ’/szﬁ)o)ﬁéiﬁ?«iﬁ’ﬁﬁ’: */ bucket = hash(key): /* RFEMLE */
p:ma\loc(5|zeof(struct cell)): Jx EEEY R REWD */
if(p == NULL) { for (oo oucket] ‘0 1NULL:
error "AEYRE"): or (p=/\ & 2 & [bucket] :p!=NULL:
} p=p->next) {
bucket = hash(key): /* BINGIE */ if (pDEDF—hkeyLZH LLY) (
pAELRTEIICF—ETF—2 %R return pMEDT—4%;
Al
p—>next = /vy & a5 [bucket]; | J

/vy ¥ aF[bucket] = p:
} return RoMmsiamofz;
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[ N DARICT—EEBMT S */
int add(int key, int data) {
int bucket, count, ki
bucket = hash (key) ;: /* BAGIE */
while(vy L akH 4 XOHYEL) {
k = /\v ¥ a & [bucket]. key:
ifkDNEZBEKRT D || kKOHIREFAEBKRT 2) { /*x COMEIST—5BM */
Ny ¥ aFk[bucket]. key = key;
/vy ¥ aF(bucket]. data = data:
return R
}
bucket = rehash(bucket) ; /* B/\v I alZk Y RDBHEEN */
}
return KB
}
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int search(int key) {
int bucket, count, k;
bucket = hash(key): /* BRFRMLE */
while(/vy Lokt XDHEYIEL) {
k = 7nw ¥ a R [bucket]. key;
if (kN ZEBKT ) break; /* ZD/NTy hTHoT */
iIf(OHIREHEBRT LD THEL & kAABHELTLEF—) (
return /\w < 2 5% [bucket]. data;
}
bucket = rehash(bucket) : /x B/\v L alTk Y ROBHEEA~ */
1
return ROMSiamo1z;
}
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